Scanned by CamScanner



Scanned by CamScanner



g

(€) A convergent-divergent nozzle has a throat area
SO0 mm? and an exit area of 1000 mm?. Air
enters the nozzle with a stagnation temperature
of 360 K and a stagnation pressure of 1MPa.
Determine the maximum flow rate of air that the
nozzle can pass, and the static pressure, static
temperature, Mach number and velogity at the exit
from the nozzle, if (a) the divergent section acts

as a nozzle, and (b) the divergent section acts
as a diffuser.

4  Attempt any two of the following 10%2
(@) Draw the phase equilibrium diagram on p-v
coordinates for a substance which shrinks in
volume on melting and then for a substance which
expands in volume on melting, Indicate there on

the relevant constant property lines

(b)  What are boiler mounting and acc

any two mountings and two

A cyclic steam power

ssories? Explain ”
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